SA Ol X2

M UK MESH(MY - SAIS/HEHNL RN
el ATHANUA JHY & 25 (el &)
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
Ofl LA XI 22t 15,973,222 15,950,137 23,085
= 5,102,446
N 640,000
| 3,187,600
= 7,043,176
HUX MHSH (A - SAIS/HEXZL 200 11,910,501 11,692,656 217,845
= 4,335,446
Xl 640,000
| 3,187,600
= 3,747,455
ATHEHEX JHE 2 23 7,538,211 7,215,778 322,433
= 1,643,000
Xl 640,000
| 3,187,600
< 2,067,611
X EH =& 9,000 10,000 A1,000
202 044l 9,000 10,000 A1,000
01 =LHOYI 9,000 10,000 A1,000
onuXE 2= 9,000
HUXIEY s - 28 FA(22) 110,000 100,000 10,000
= 55,000
o= 55,000
201 LB 32,100 20,000 12,100
= 16,050
T 16,050
01 AFR 22l bl 32,100 20,000 12,100
OouuUXZE B8 20,000
= 10,000
o= 10,000
OXFNUX EE32H H= 9,100
= 4,550
o= 4,550
OFHEANUX EE232H H= 3,000
= 1,500
o= 1,500
202 044l 17,900 20,000 A2,100
= 8,950
o= 8,950
01 =LHOYI 10,000 10,000 0
OMUHXIANE =& 10,000
= 5,000
& 5,000
03 =2AF R0l 7,900 10,000 A2,100
OUHUHXNEE SR HAHEX H 7,900
= 3,950
& 3,950




S M
I‘Iil-l:
C}Ol:

U= PR,

HURX ArAsSA(MY - SIS /UKL IHRONE)
g aQ

ATHEMUX HE & 25

(&4

SA B ER(S) - MRAE - BaS Of &r e HIDE
303 Zat= 20,000 20,000 0
= 10,000
T 10,000
01 Z2a= 20,000 20,000 0
OQUIUX AIZH 2% AlZ & 20,000
= 10,000
S 10,000
307 212tol & 40,000 40,000 0
= 20,000
S 20,000
04 QIZFSHAAIRI 2 X 40,000 40,000 0
OUUHXIZS ws - S2AY AL X2 40,000
= 20,000
S 20,000
ATHAEANUE X AL 2tel 368,261 378,978 A10,717
201 et gl 278,261 278,978 AVAYS
01 At 22l 53,500 54,400 2900
OS3H5LdHN 29 40,000
OSHLJA AlZ2cE X S 13,500
02 ==&l 224,761 224,578 183
OZTHL I 332= 65,000
O38LdI I RANES 151,361
O3HYNLA ANL2es g [FFY 8,400
202 04H| 10,000 10,000 0
01 =UWo 10,000 10,000 0
QUTHAUHUH X HR=X 10,000
206 =4l 40,000 40,000 0
01 =4 40,000 40,000 0
O3HLII| RS 228 78 40,000
401 AIE2HIR 204 40,000 50,000 10,000
01 A&l 40,000 50,000 210,000
OSHL A AlE2c 40,000
ATHAOIL X M AR 22|53 94,000 96,800 A2,800
201 2Er2gY| 74,000 76,800 A2,800
01 At 22l 44,000 44,000 0
OAMHHNUHKIEAIZ 24 44,000
02 =523l 30,000 32,800 2,800
OQUTHMUUH XAl 2 S5 30,000
401 Al EHIL 28] 20,000 20,000 0
01 Al & H] 20,000 20,000 0
OATHHMUHXIEAIZE AlE RAI22 20,000




SA Ol X2

A UK AESE (MY - SAIIY/HHR L)

Sl AKX i R 25

A" G(3) - MPAY - B Ofl &t e HIDE2

ATHANEX XIEX&(=22) 1,310,000 1,251,000 59,000
| 1,310,000

308 XXM SO0l 51,000 0 51,000
| 51,000

08 WEI|20HstE = 51,000 0 51,000
O THMOIH X XISXIA 51,000
| 51,000

403 XX S S X201 & 1,259,000 1,251,000 8,000
| 1,259,000

01 XX EM A 22 X 1,259,000 1,251,000 8,000
O&THAOH X XIHXIA 1,259,000
| 1,259,000

NEHHX B3R (=12) 1,588,000 944,000 644,000
= 1,588,000

403 XX S S X201 & 1,588,000 944,000 644,000
= 1,588,000

01 AXESHMA2EZR 1,588,000 944,000 644,000
OXGHUX BANEEX) 1,588,000
= 1,588,000

FAHNE M¥Easg S (=1) 2,119,200 1,937,000 182,200
| 1,877,600
& 241,600

403 XX S M S X201 & 2,119,200 1,537,000 582,200
| 1,877,600
& 241,600

01 AXSHMA2E T 2,119,200 1,537,000 582,200
OMASE & A=XAE LEDS A 2,119,200
| 1,877,600
& 241,600

NUXIKES SMIBAlE XA (Z2I1REXH) 999,750 753,000 246,750

403 XX S M S X201 & 999,750 753,000 246,750

01 MHXISHX2EE 999,750 753,000 246,750
NN S =MIIBAE X4 999,750

g &8 UsSH 01848 2E2(=2HAEXA 120,000 120,000 0

403 XX S S X201 & 120,000 120,000 0

01 AXSHMA2E X 120,000 120,000 0
OtH2E & U=2H 012£Hl 22 120,000

el KX =X0E F4(22) 640,000 160,000 480,000
Xl 640,000

403 XX S S X201 & 640,000 160,000 480,000
Xl 640,000

01 AXESHMAE2EER 640,000 160,000 480,000




SA Ol X2
A UK AESE (MY - SAIIY/HHR L)

SR AU JHE & 23 CERED)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
oxgd X =X0ts =4 640,000
X 640,000
JloHX 28 sEAIE DEsH(IINAEX) 80,000 200,000 A120,000
403 RXIEHHSA=01 A 80,000 200,000 A120,000
01 XS ExE 80,000 200,000 A120,000
OIeliHX 28 s=HAL U3t 80,000
&g MisSs 28X ciAg Arg 100,000 0 100,000
401 AIE2HIR 204 100,000 0 100,000
01 Al &2 H] 100,000 0 100,000
o2zd 1S5 28X I 100,000
IR Kh 2tel 1,813,405 3,200,253 21,386,848
= 1,631,696
= 181,709
NBIE JtAAE HE(=1) 1,360,624 1,475,631 A 115,007
= 1,265,696
& 94,928
403 NUHXIHHS =01 A 1,360,624 1,475,631 A 115,007
= 1,265,696
= 94,928
01 XM= 2 X 1,360,624 1,475,631 A 115,007
OKNEIE JtAAE i 1,360,624
= 1,265,696
& 94,928
SOHE dIISSAME NJ(2IHEEXH) 53,781 70,650 A 16,869
403 RXIEHHSA=01 A 53,781 70,650 A 16,869
01 HXSHMA2EE 53,781 70,650 16,869
Os0E MIISSAE FX 53,781
SAtA EEHIE MEEY FH 23,000 23,000 0
207 HASIHE 23,000 23,000 0
01 g+E=2H 23,000 23,000 0
OZ AL SEHIE &4F Y 23,000
288 UK =5 - 22l =d 10,000 10,000 0
202 ol 10,000 10,000 0
01 =UWo 10,000 10,000 0
O=sX fUXac GRF8 10,000
SOHE OtSH9 PG 28 MEHEH E2Mg(=1) 300,000 0 300,000
= 300,000
403 MHRISHSA201A 300,000 0 300,000
= 300,000
01 XM= E X 300,000 0 300,000




A Ofl LX)
BB LK A (A SAIQ/UKILIRANL)
EHels ORI Ap22e (&2 dd)
PSIE|
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
Os0E Ot=H9 PG A8 NEY D E5AY 300,000
= 300,000
SZIIANE etE 2| e (=1) 66,000 0 66,000
= 66,000
403 MXIEHHSAH=01A 66,000 0 66,000
= 66,000
01 HXSHHMA=Ex 66,000 0 66,000
OsZIIA4 otEate] JHe 66,000
= 66,000
B3NS 22 1,349,525 1,276,625 72,900
= 1,060,750
= 288,775
HATATGSIHNGY) 22(=1) 226,200 782,625 556,425
=l 174,000
= 52,200
403 MHAIHSAHZ01A 226,200 782,625 556,425
= 174,000
= 52,200
01 HXSHMA2E xR 226,200 782,625 556,425
OEGHENAXS BT 226,200
= 174,000
= 52,200
Z2tZE0IQUE NS HE st 9,000 10,000 A1,000
202 o4l 9,000 10,000 1,000
01 =Wl 9,000 10,000 21,000
OBIOI20IE & ESBNSA 28 LRFN 9,000
HIINSHH 25 & sHAZ 2H(=12) 1,059,200 484,000 575,200
= 848,000
= 211,200
403 RXIEHHSA=01 A 1,059,200 484,000 575,200
= 848,000
& 211,200
01 XS ExE 1,059,200 484,000 575,200
Q&IINSA 28 & SdeZ 25 1,059,200
= 848,000
= 211,200
HII0lEX E2(=1) 55,125 0 55,125
2 38,750
= 16,375
403 RXIEHHSA=01 A 47,125 0 47,125
= 36,250
& 10,875
01 XS ExE 47,125 0 47,125
Q&II0IER 22 47,125




SA Ol X2
A UK AESE (MY - SAIIY/HHR L)
& SIS

(&4

- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
= 36,250
& 10,875
405 RhakbF SHI 8,000 0 8,000
= 2,500
& 5,500
01 A =S F S 8,000 0 8,000
Q&II0IER 22 8,000
= 2,500
T 5,500
ATHMOIUX he & ES(NSATEALHMSESA) 27,000 0 27,000
HEE LEHLFENI| 22N 27,000 0 27,000
403 MRISHSA201A 27,000 0 27,000
01 XM= E X 27,000 0 27,000
OJI8s ~gHgadadl 2= 27,000
Ol X RHA2el (RS THAALMSESIA) 1,182,360 0 1,182,360
MNASSE DY I+ JHAANE(EOINZ) B =8 45,000 0 45,000
403 RXIEHHSA=01 A 45,000 0 45,000
01 HXSHMA2E xR 45,000 0 45,000
OMASE 08 It JtAANE 23 =4 45,000
SAIEA A2XE SsS4€XIdl N2 789,138 0 789,138
403 NUHXIHHS =201 A 789,138 0 789,138
01 XM= E X 789,138 0 789,138
OZAItA 22X Ss4XIHl X 789,138
SOHE PG NE™YI AMELIH N 300,000 0 300,000
403 MRISHSA201A 300,000 0 300,000
01 XS A2Ex 300,000 0 300,000
Os0E PS8 MY AIE&XIEl A& 300,000
SIIAIE i K& 48,222 0 48,222
403 RXIEHHSA=01 A 48,222 0 48,222
01 XS ExE 48,222 0 48,222
OMASE ==8IIANE i 48,222
IR X (BBES/SFES52E) 1,677,800 4,165,300 A2,487,500
= 767,000
= 910,800
JlzdHet Uis =4 1,196,800 4,165,300 2,968,500
= 374,000
= 822,800
st=JISHUSH2HH XE 665,000 700,000 35,000
306 EA= 665,000 700,000 35,000
01 &d= 665,000 700,000 35,000




SA Ol X2
3 JIZHE

=
ball
B

chol JlEEE (g F=A (Erel:@el)
_ - PoRE |
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
|  os=JisvigigdqdE 29 T2 665,000
JEHIUE dE X X 7,800 8,500 AT00
202 o4t 7,800 8,500 AT00
01 =SLHO Y] 7,800 8,500 A700
OJIEHBUY 2 7,800
SHIZAL BA3Y Z2IU(23D) 374,000 67,000 307,000
= 374,000
403 KHXISHHI S KH2 01 & 374,000 67,000 307,000
= 374,000
01 "XIESMAEE X 374,000 67,000 307,000
OSt4+HM2IE HYZ AL &3 374,000
= 374,000
2aIIA SHLEE 2 J|I=dHs ARS8 8 89 150,000 0 150,000
207 A 1OH | 150,000 0 150,000
01 %At 150,000 0 150,000
OS4IA SHEN Y IS HSHE 4
2 2o 150,000
JIZBNES & FUAAXE 481,000 0 481,000
= 393,000
= 88,000
HAHSE A SAJA JUHSEE N(2D) 180,000 0 180,000
= 140,000
= 40,000
201 Yer2 | 5,000 0 5,000
= 2,500
=S 2,500
01 At2 2218 5,000 0 5,000
O= MMt ol 5.000
= 2,500
=S 2,500
303 Z a2 5,000 0 5,000
= 2,500
=S 2,500
01 =2 5,000 0 5,000
OSMMBAH 2N AIY 5,000
= 2,500
= 2,500
307 giztol & 70,000 0 70,000
= 35,000
= 35,000
02 LAANALEE 70,000 0 70,000
OJBAEE ZYUERD 25 XA 68,000
= 34,000




SA Ol X2

HHM: J|SHIHH FHU(HIES/EBES L)
Sl JIBHSINS o RVAHL D EERED
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
= 34,000
OelAEE 28 dEgZaads =4 2,000
= 1,000
T 1,000
308 At XIHHSO0IH 100,000 0 100,000
= 100,000
01 UAXSHMBAEES 100,000 0 100,000
OJI=XNIH JeeIH(OTAEE) &5 X2 100,000
= 100,000
JI=HstIsHdH 29 XNE(21) 66,000 0 66,000
= 33,000
o= 33,000
307 glz2tol & 66,000 0 66,000
= 33,000
o= 33,000
02 IS At E X 66,000 0 66,000
QJIZzB3u= IESZ 66,000
= 33,000
o= 33,000
AXH JI=HSUS HOtAIY X (212) 65,000 0 65,000
= 50,000
o= 15,000
403 MRS S K201 A 65,000 0 65,000
= 50,000
o= 15,000
01 AXISHMA=E XL 65,000 0 65,000
O 201 EAIE XA 65,000
= 50,000
o= 15,000
EIAHOIERN 29 (=21) 170,000 0 170,000
= 170,000
308 XtXIEMS0IH 170,000 0 170,000
= 170,000
01 UAXSHHBAEES 170,000 0 170,000
OEAZOIERN 23 170,000
= 170,000
HE AL (0l XI ) (JIEH/DIE 104,081 92,181 11,900
QI 2 | 64,181 52,981 11,200
ATHAHHHXI A2 23 64,181 52,981 11,200
101 @244 64,181 52,981 11,200
03 RIAHA2ZRHE 64,181 52,981 11,200
OMMMUUHXIEAIZ FEEZL0| 1A4H| 64,181




SA Ol X2
M HY2I (X)) (OIEHIIE)

chol: ol gy) =LY
= = AN L=
SA - HH SR (B) - MRAY - BAS il &t e imE=T
Oll2s
1,410,640 « 123 18 +1,341, 1403 x 123 1 33,022
[z}
O&0=
1,410,640% »100%*43] * 12 +1,341, 140& *100 11,008
x4 3| x1H
ozya+y
1,410,640% «20%+22] *1H +1,341, 1403 +15%= 967
23|x1H
(O PNE =2 E=
80,0322 *152 x124+76,486* 15 «1H 2,348
OANZ2e 28+
10,0043 150%+20Al 2+ 128 1549, 56 1& *15 7,044
0%*20Al 2++ 128 +1H
OEE St
1,410,6402 *100%* 12 +1,341, 1402 x 100%x*1 2,752
[z}
Oz 4l 130,000& * 12& x2H 3,120
(@JmE=1] 80,0002 x12& x2H 1,920
Ol =l 500,000 x2H +2H 2,000
Jl=&Hl 39,900 39,200 700
FH2E JI=34| 39,900 39,200 700
201 LBt 24,900 26,000 21,100
01 AFR 22l bl 24,900 26,000 21,100
OFANM2Z AtR22|H| 24,900
202 tddl 10,800 9,000 1,800
01 =20 YI 10,800 9,000 1,800
ORM2E SN 10,800
203 YR =&l 4,200 4,200 0
04 EN2Z LR 4,200 4,200 0
©302! 0I3dt 350,000 123 4,200
MPES(HEXID) (MY - SAIL/0H KL R0 2,260,000 0 2,260,000
LHEHH K= 2,260,000 0 2,260,000
NATHEANEM SE3H 2 2,260,000 0 2,260,000
701 JIELI HSTHES 2,260,000 0 2,260,000
01 JIEtsl AN ES 2,260,000 0 2,260,000
OXSXNEANEN EE2H 29 2,260,000
ollglgr(oliBlbl/oiglel) 20,840 0 20,840
GlHIBN (RIS HRAANSMESSIAH) 20,840 0 20,840
ol g1 Bl 20,840 0 20,840
801 ollHId| 20,840 0 20,840
01 & Btail bl Bl 20,840 0 20,840




SA 0l Xl
HE:oolglgl(oiglgl/oglgl)

Sl OlHIEI (KIS RAI L NS L5 H) (G & &)
- _ _ AN
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2

ooldidl 20,840




